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What do you mean by Systematic Investment
Plan? What are its benefits?
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Mr. A has bought call and put options both. Each
contract is of 100 shares. He has purchased one

' 3-months call with a strike price of Re. 54 and Rs.

2 as premium. He has purchased a 3-months put
option with a strike price of Rs. 50 and Rs. 1 as
premium. Find out his position and total profit or
loss if stock price on explratlon date is (i) Rs. 48,
(ii) Rs. 58.
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NOTE:— Answers may be written either in English or in

Hindi; but the same medium should be used
throughout the paper.
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Attempt all questions.
Use of simple calculator is allowed.
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L. (a) What do you mean by investor’s education? What
are the rights and responsibilities of an investor?
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An investor wants to invest in one of the two
securities with equal returns but different proba-
bilities. Compute the expected return and risk of
both the securities. Which security should the
investor buy?

Return (%) | Probability (X) |Probability (Y)
=5 0-2 o
15 0-3 e
T 0-2 0-3
15 0-2 0-2
18 0-1 0-3
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(b) Mr. X is holding shares of A Ltd. in his portfolio.
Probability distribution of expected return from
this stock and market index is given below:
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Situation | Probability | Return of Return gf
A % Market (%)
Recession 6-2 10 10
Avera_ge 0-4 12 16
Good [J-32% 21 22
Boom 0-1 NG 29
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The risk free rate is 6%. Assume that CAPM
conditions hold true. Should Mr. X continue to
hold this stock in his portfolio?

fito X ¥ A GEwIfEd A A fado & siw W@ T
W WIF ¥ oWid sfawa & wifdeear faawo

qfeq ? 11
AU (%) wifaeRar (X) TfaeRar (Y)
-5 0-2 0-1
10 0-3 0-1
12 0s2 0-3
15 0-2 0-2
18 0-1 0-3

Or (Age)

(a) What is SEBI? What are its objectives?
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st Gd oL o 16
Sy 0-3 21 2
ECLIC| 0-1 27 29

Sifgw g9 @ 6% @I WEA gL % CAPM
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W Wis & W™ @ =@y ? 11

Or (319a)
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5. (a)
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The following particulars are given relating to a
mutual fund:—

Opening NAV
Closing NAV

Administrative expenses including
Fund Manager remuneration

Rs. 104 crores

Rs. 253 lakhs
Rs. 132 lakhs

Rs. 70 lakhs

Management Advisory Fees

Publicity and Documentation

Ascertain the Expense Ratio.

TH REAA G5 A gty faaww A @ @ 8

TR NAV To 104 FUE
#fd NAV To 162 FUS
% YausE & gifus afed

WIS =94 Fo 253 @@
YT §aATR Yok To 132 @@
FAEER 9 Y@ To 70 @@

Rs. 162 crores
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An investor purchases an equity share at a price of
Rs. 50. Its expected year end price and dividend
with relevant probabilities are given below:

Probability Share Price (Rs.) |Dividend (Rs.)
0-20 70 6
0-15 _ 65 5
0-25 55 4
0-15 50 3
0-25 42 NIL

Find out the expected return and variability of
return of the equity share.

T& a9 50 ¥o & &HFd W TH GHAT W
GlTar & | af it gEIfd W 3EH AT S

2. (a)

g AWV ¥ grEtyd wfgead A § w6 &
wifaasar 39T HUA (Vo) | FTHII (o)

0-20 70 6

0-15 65 5

0-25 55 4

0-15 50 3

0-25 42 NIL
guar W & owia wfawd dwr wfawe &t
qfiadeitedar 1 TUET shifeg | 11

What is primary market? How is it different from:

secondary market?
P.T.0O.
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Mr. X is considering to buy a bond having face
value of Rs. 2000 which will be redeemed over a
period of 5 years in five equal annual instalments.
The bond carries a coupon rate of interest of 8%.

Find the value at which Mr. X would like to buy
the bond if his expected rate of return is 10%.

fio X 2000 %o difwd qe9 & = aiz # @y
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Or (319an)

Explain the term investment. What factors should
an investor consider while making investment
decision?

friwr @ W i fofr Y @
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A 12 % bond of Rs. 100 is available in the market
at Rs. 95. The interest is payable semi-annually.
The bond will mature in 5 years from now.
Compute yield to maturity (YTM) of this bond.
What will be the value of the bond if the required
rate of return of an investor is 14%? Should he
buy the bond?
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his investment in A and 60% in B or 40% in B and
remaining 60% in A. Which portfolio is better?

sfasifaal A @ B & Sifaw sk smifra sfawa
f=

g et e faae
| 12% 16%
B 15% 20%

A T B & Afawal & i wEEEY o0 0-8
21 uw FAYE A ¥ 40% a0 B ¥ 60% Hua
40% B ¥ AA1 60% A W FAW w0 wwaE 1
S 4 IR s 22 11

Or (319an)

(a) What is a deep discount bond? How is the value

of such bond calculated?
giv fewpEe e 1 87 U afe & qod i R
TUAT F SR 8 2 4

(b) From the data given below, find which of the

following securities are over-priced or under-
priced using SML equation:

Security A B By D E
B 16 |'BS V124 .3:0.4. 19
Return 15 10 18 25 15

The return on market index is 12% and the return -
on risk free asset is 8%.

9 fed T3 snwel q, SML GHIEU 1 STEM




3. (a)

(b)

5 3147
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Differentiate between Bar Chart and Candle Stick
Chart.
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ABC Company is expected to grow at 10% per
year for the next 4 years and then to grow
indefinitely at rate of 7% p.a. The required rate
of return on the equity shares is 12%. The
company paid a dividend of Rs. 2 per share last
year. Determine the market price of the share
today.

~ ABC Frt &t ot 9R anf § s 10% g

e ¢ e f 7% 3t @ W gfz s
FA TH AECIT ]| TEAr FW W oAEd
FMET W 12% 21 =97 ¥ Rod af 2 5o wfy
N TV W A R e @ adum SR
wma # frafor st 11

Or (319em)
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(a) What is Market Efficiency? What are its three
forms?

TR AT 41 € 2 39% i WY 4 €2 4

(b) A company’s share is currently selling at Rs. 144.
The dividend paid by the company last year was
Rs. 9.60 per share. If the expected rate of growth _
of dividend is g and the required rate of return
(k,) is 12, what will be the share price after 2
years?

TS FEA H W 144 To A fam wr k| FA A
frsat ad wfq 3(W 9-60 Fo THW H AW fwar
a1 | Afe @IWiw W@ ATEeE gfe @ W g ® IR
yfawe & AEvEE W (k) 12% 8, W 2
QYT AW S HHA F41 Bt ? 11

4. (a) What do you mean by credit rating? Explain its
importance in investment decision.

afez Mem q s 41 ad 2 2 ﬁ%wﬁvhﬁ‘
T HEl W WHLIE | 4 M\~

(b) The following are the expected returns and risk of
securities A and B:

Expected Returns Standard Deviation
A 12% 16%
B 15% 20%

The correlation coefficient between the returns of
A and B is 0-8. An investor wants to put 40% of



